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UNiT—1

1. According to Orwell, what would happen if
the manufacture of the atomic bomb was a
very easy matter and most countries in the
world are able to possess it? 15

OR

2. “We are now solemnizing the obsequies of
the great Marlborough; all his victories, all
his glories, his great projected schemes of
War, his uninterrupted series of conquests,
which are called his, as if he alone had
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(2) | (3)

fought and conquered by his arm, what so OR

many men obtained for him with their i

blood—all is ended, where other men, and, 6. As shown by the poet William Shalfespeare,
indeed, where all men ended : HE IS DEAD.” list the many ways in which fear is finally

. T . ve and eliminated in Fear No More.
Discuss the implications of these lines in the overcome

light of Defoe’s essay, The Instability of

Human Glory. UniT—IV
7. Fill in the blanks with the correct
iti : 1x5=5
UnIT—II prepositions
(a) Take proper caution monkeypox.

3. “Anton Chekhov’s short story, Minds in "Sita is burdened a big family.
Ferment is a humorous, yet ironical | A B (b) Sita is burde g y
portrayal of the element of human % (c) Hari has no capacity ____ hardwork.
nosiness.” Discuss by citin L. .
instances from the text.y & relevant 15 (d) This place is infested mosquitoes.

‘ (e} Cast your burdens the Lord.
OR
8. Rewrite the following sentences correctly :

4. In the story, One Dollar’s Worth, how does 2x5=10
O.Henry portray the character of Joya :

. . . alk seven miles everyday.
Trevias? Briefly discuss your impression of ' (a) He walk s yaay-.
the strength of her character. (b) She was determined to quickly buy a

car.
' ' (c) People were coming, going and ignored
. U1 him.

. d) The woman was lost with the hat.

8. What did Wordsworth compare himself to in (@)
the poem, I Wandered Lonely as a Cloud? (e} Pooja and Sheetal had an exam last
How was he affected by the experience? 15 week, she did well.
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UNIT™—V

9, What do you understand by communica-
tion? Explain the different elements of the

communication process. 5+10=15
OR
10. Describe the fundamentals of oral
communication. 15
% %k
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